Income for the year %
ended 31 March 2000 i
Total income £13,363,000 &S

Expenditure for the year

Balance sheet at 31 March 2000 Total value £21,403,000

Assets
Fixed assets 90 %
Stocks 0%
Debtors 10 %

Income for the year %
ended 31 March 2001 gi
Total income £13,436,000 é& L®
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Balance sheet at 31 March 2001 Total value £21,451,000

Assets
Fixed assets 92 %
Stocks 0 %
Debtors 8 %

&
ended 31 March 2000 §3” -
Total expenditure £13,215,000 g? S°
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Liabilities
Capital reserve 89 %
Income & expenditure account 3%
Current liabilities 8 %
Expenditure for the year &
ended 31 March 2001 Q,S’ Q
Total expenditure £13,436,000 c’;n? @QQ
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Liabilities
Capital reserve 91 %
Income & expenditure account 3%
Current liabilities 5%
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